VERBAL INTELLIGENCE TEST NO 1

PAF, ARMY, NAVY and all COMPETETIVE EXAM
AFNS, Airman/airwoman, Sailer, FMT, cadet colleges
and commission officer in tri services



VERBAL INTELLIGENCE TESTNO 1

1)Which of the following is different from the rest?

a) Invention b) Unearth c) Discover d)Find e) Locate
2)YWhat will comes next in the following series?
2 4 16
4 16 256
256 2595 256 256 254
a) 65563 b) 65536 C) 65536 d)63555 ) 65563

3) What number comes nextin the following series?

2413 - 2420. 2434 2462. 2518
a)2631 D)2630 €)2730 d)2830 €)2635



VERBAL INTELLIGENCE TESTNO 1

4) Which one is different from the rest?

a)Cow b)Hen c)Duck d)Bull e) Mare

5) In a class of 60 male and 35 female students 80 % class failed in
Chemistry,30% in English then which oneis true?

a) Only male are failed.

b) No Male are failed.
c) Both Male and Female students are failed.

d) Only Female are failed.



VERBAL INTELLIGENCE TEST NO 1

6) If Shoe is to Foot then Helmet is to
a)Steel b) Combat c¢)Baseball d)Heavy e)Head

7) What number comes next in the following series?
3 10 4 17 5
a)25 b)24 ¢)26 d)27 e)29

8) What number comes next inthe following series?

ABCD BCDE CDEF DEFG
a) EFGHI  b)EFHG ¢) GHEF  d) FGHE e)EFGH



VERBAL INTELLIGENCE TEST NO 1

sssssssssssssssssssssssssssssssss

9)What number comes next in the following?
LACK 9381 and CALK 8391 then what stands for

CKAL?
a)8139 b)8319 ¢)8913 d)3819 e)8193

10) Which oneis different from the rest?

a) QS bJEH c)IL d)MP e)AD



VERBAL INTELLIGENCE TEST NO 1

11) If second of the following numberis added to the shortest number and
divided by the third numberthen the answerwill be.

2 14 4
a)2 b)6 c)4 d)8 e)10

12)What is missing number?

a)o b)3 c)8 d)6 e)10



VERBAL INTELLIGENCE TEST NO 1

13) What is the next number in the following series?

4 8 24 96
a)804 b)408 c)556 d)664 e)}480
14) Which one of the following is different from the rest?
a)Heaven b)Town c)City d)Village e) Township
15)What number comes nextin the following series?

AB DEF HUK. MNOPQ
a) STUVXW b)STVUWX c) TSUVWX d) STUVWX e)SUTVXW



VERBAL INTELLIGENCE TEST NO 1

31
16)Marchisto 3 and June isto
30 3 30 25 30
a) 5 b) 6 c) 7 d 6 €6

17) What digit is missing in the last number?

834 438 236 637
92 29 45 54
a)2 b)3 c)6 d)s e)7

18) Which one of the following is different from the rest?

a) Infant b)Adult c)CChild d)Newborn e) Baby



VERBAL INTELLIGENCE TEST NO 1
19) If CRATE is to EXCRATE then CUTE is to --rr—.

a) Chﬂl'mmg b) Lovmg C) EXCUTE d) Smart ¢) Attractive
20) Which on.e of the following is different from the rest?.

* a) Separation  b) Split ¢)Divide - d)Gap ¢) Union
21) What number comes next in the following series?
429 ‘24 303 B 1920 3. 9
8 10 10

a) 42 b) 46 ) 44 H40 )48



VERBAL INTELLIGENCE TEST NO 1

22) What number comes next in the following series?

T O TR S P

2) 9 b) 1 Q)7 Q)8
23) What is the missing letter? s
8+3-4=G
- gH2=2=L
22+4-3=W
13+1-10=?

) E BFE 9D 9)Q

e)3

e)L |



VERBAL INTELLIGENCE TESTNO 1

24) What is the missing letter?

- 18 23 12
g a3
A\ s - 7 9 22 40
a) 50 b) 48 c) 76 d) 74 e) 47

25) What number comes next in the following series?
E J N Q



VERBAL INTELLIGENCE TEST NO 2
1. Which one is different from the rest?
a)Karachi b) Kabal c)Delhi d).Dhaka
2. If FEED is coded as 4332 then DEEF is coded as
a)2334 b)4323 ¢)3234 d)4233
3. IfFETisto TEF then TAR s to
a) RAT b)ART <¢)TRA d)TAR



VERBAL INTELLIGENCE TEST NO 2

4. My mother is your brother's sister what is | to you?
a)Cousin b)Nephew c)Uncle d)Brother

5. Kamalis older than Jamal, Jamal is older than
Hussain, Hussain is older than Wagar, Who is the oldest.

a)Kamal b)Jamal c)Waqar d)Hussain



VERBAL INTELLIGENCE TEST NO 2

6. Which one of the following is different
from rest?

a)High b)Great c)Fat d)Small e)Big

7. Forests are useful because

a)They help in building the economy.
b) They provide the picnic spots.

c) They are easy to grow.

d) They make the country beautiful.



VERBAL INTELLIGENCE TEST NO 2

8. Azrais older than Munir and Munir is
younger than Javed then Azra is

a) Older than Javaid.

b) Just as old as Javaid.

c) Younger than Javaid.

d) Can not Say what

9. What number comes next in the series?
62 3 84 2 93

a)4 b)3 c)2 d)l e)6



VERBAL INTELLIGENCE TESTNO 1

10. Sailor is to Air Force then Airman is to

a)Shopkeeper b) Cobbler c¢)Navy d)Army

11. If Yesterday was Monday what day is after Tomorrow?
a) Saturday b)Monday c¢) Wednesday d) Thursday

12. Mountain is to High then train is to

a)Length b) Speed c)Small d) Tall



VERBAL INTELLIGENCE TESTNO 1

13)What will come next in the following series?

1 1

8 2 > 8

1 1 1 1
14) what will come next in the following
A C F
a)l b)H c)K d)i
15) Which one is different from the rest?
a)Melon b) Orange c)Carrot d)Mango



VERBAL INTELLIGENCE TEST NO 2

16. What will come next in the following series?
2 4 8 14

a)22 b)18 c)19 d)24

17. Murrée is to Cold as Jacobabad is to..........

a)ice b)hot c)snow d)stream



VERBAL INTELLIGENCE TEST NO 2

18. Cars have Mirrors because?

a)To see the cars coming backwards.
b) To see the girls in the cars.

c) To see the different sights.

d) To see the cars which are ahead.

19. We get education because?
a)To polish ourselves in every aspect

b) To earn money to live in this world

c) To get jobs in good place

d) To show others that we have degrees.



VERBAL INTELLIGENCE TESTNO 1

< 20. What will come next in the following series? | = %
18 13 9 6
a)a b)8 c)2 d)3

21. Which one is different from the rest?

a) February b) December c)June d) Monday

22. Which one is different from the rest?

a)Car b)Cart c)Aircraft d)ship



VERBAL INTELLIGENCE TEST NO 2

23. What letter comes next in the following series
34 24 16 10 6

a)2 b)4 c)3 d)7
24. What letter Alphabetically in the word FLUCTUATION
a)l b)N c)U d)F

25. If CREEP is to CUP then GREEN is to ----
a)lug b)Gun c)Grass d)Gape
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1. Which one is different from the rest?
a) Relationship b) Kinship c)Friendship d) Spaceship
2. If FELLOW is coded as 465531 then ELLOW is coded as...
a) 65531 b) 1356 c) 3561 d) 1653

3. Akmal and Jamal are brother, Anjum and Ajmal are their
sons, what is the relation between Anjum and Ajmal?

a)Cousin b)Nephew c)brother d)Uncle
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What will come next in the following series?
32 6 43 12 64

a)24 b)28 c)32 d)a3
Which one is different from the rest?
a)AC b) DG c) HK d)LO

What will come next in the following series?
Z3 X6 U9 Ql2

a)L15 b) P20 ¢) Q22 d)R24
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What will come next in the following series?
42 2 84 2 93

a)3 b) 2 c)6 d) 8
Which one is different from the rest?
a)AC b) CE c) EG d) Gi e)l)

What will come next in the following series?
EoV EiW E2X E3Y

a)EtW b)EaZ c)EoP d) E2Q



VERBAL INTELLIGENCE TEST NO 3

10. If A=2, B=4,C=6 and so on then what word the
following number stands for according to alphabetically?
6 10 10 32

a)DEEP b)PEEP Cc)EPED d)EPPE
11. What will come next in the following series?
84 12 32
a)6 b)8 c)5 d)7



VERBAL INTELLIGENCE TEST NO 3

12. What will come next

] A

a)5 b)6 c)0 d)7

13. What will come next in the series

43---1 532 74---3
a)84--6 b)84--5 ¢)83--3 d)84--4



VERBAL INTELLIGENCE TEST NO 3
14. Man is to Woman as Boy is to ---

a)Brother b) Girl c¢) Father d) Daughter

15. What will come next in the following series?
2 3 8 63

a)3968 b)8663 ¢)6938 d)8369
16. What letter comes Alphabetically in order in the

letter MOTHER?
a)Mm b)E c)H d)R



VERBAL INTELLIGENCE TEST NO 3

17. If FACE is coded as 6135 then ACE is coded as....

a)135 b)357 ¢)657 d)176
18. Which one is different from the rest?
a)Father b) Mother c)Brother d)Uncle
19. If BOX is to 3 then BOXER is to
a5 b)a c)7 d)8



VERBAL INTELLIGENCE TEST NO 3

20. A grand Father is always......... than his Daughter.
a)Experienced b)Taller c)Wiser d) Heavier

21. What will come next in the following series?

oy T e

16 .~ 524 6l
’ 34 16
a2 b)._‘.6_. ) 345 d) R0

534 543 16 345 .
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22. What letter comes Alphabetically in order in

theword DRAWING?

a)G b)W c)A d)A
23. What will come next?
7+2-1=H
22+6-5=W
11+6-2="

a)G b)W c)A d)A



VERBAL INTELLIGENCE TEST NO 3

24. 1f 1800' O clock is to 6' o clock then 1400' O clock is to
a)2 b)3 c)4 d)5

25. If STEP is coded as 3165 then PETS is coded as
a)5613 b)3165 c)1635 d)5163



VERBAL INTELLIGENCE TEST NO 4

What will come next In the followIng serles serles?
B D G K P
a)Vv b)R c)S d)E

Which one of the following Is different from the rest?
a) Dagger b)Sword c)Knife  d)Fork



VERBAL INTELLIGENCE TEST NO 4
3. Looking on a portrait, a man said. That's man's
father is my father’s son, | have no brother and sister

what is He to Me?
a) Cousin b)Uncle c)Brother d)Son & Father

4. Add the number, which comes in the middle of
the series to the largest number and divide it by the
smallest no then answer will be

27 5 18 6 7
a)ll b8 )15  d)9
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Which one is different from rest?

a)True b)Certain c) Vague d)Sure
SAW is to CUT as IRON is to

a) PRESS b)METAL c) OVEN d) HARD
Which one of the following is different from rest?

a)Two Db)Four c)Twenty d)Five



10.

VERBAL INTELLIGENCE TEST NO 4
Which one is different from the rest?

a) YARD b) FOOT c)KILOMETER
HEAR is to EAR as CLOSE is to

d)LENGTH

a)END  b)LOSE c)DOOR d) BEGIN

Girls wear glasses because?
a)They have poor eyesight.

b) They want to look smart.
c)They have to go out side.

d)They want to show off.
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11. 473982 is to 1419 and 329684 is to 1418
therefore 751694 is to?

12.

13.

a)1319 b)1913 ¢)1391 d)1931
Which is the odd one out?
bow, portal, rose, bay, lancet

a) Lancet b)rose c)portal d)bow

831isto 25 as 731 is to--?
a)22 b)25 c)21 d)18



VERBAL INTELLIGENCE TEST NO 4

14. WITHERS is to NECK as HOCK is to:
a) TAIL b) ANKLE c)MANE d)LEG c)HOOF
15. BILLY is to GOAT as JACK is to:
a) KANGAROO b) DEER c) DONKEY d) FERRET e) LION
16) 76 isto 13 as 78 is to?
a)l2 b) 56 c)15 d)35



VERBAL INTELLIGENCE TEST NO 4

17) What number should replace the question mark?
R ST o 16 17 18 26

14 15 10 13

17 22 \16 7
36 28 19 16

a)4a5 b)31 c)39 d)54
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T e RE RS RRNRSSIETRLET W IR _——=

18) What number should replace the question mark? :

(S & . 8
/
Q WS 7 2 19 7 - 3 = 19
a) 137 ' b) 28 c) 47 d) o

19) What number should replace the gquestion mark?

$1 ol | 13 11 27 31
76 ' a4 4

17 7 17 11 | 14 8

a)76 = b) 216 . c) 434 d) 218
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20. SUNDAY, MONDAY, TUESDAY, WEDNESDAY,
THURSDAY, FRIDAY, SATURDAY

What day comes immediately before the day that comes
two days after the day that comes four days before the
day that comes immediately after Thursday ?

a)Tuesday b)Monday c)Wednesday d) Saturday



VERBAL INTELLIGENCE TEST NO 4
What number should replace qguestion mark

PDHDH®

a)9 b) 12 c)6 d)3
22. What number should replace question mark

17 14
15@11 19.16 11.-,
19 10

8 b) 12 c)0
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23. What number should replace question mark

a)a b)1  ¢)5 d)3
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24. What number should replace question mark




VERBAL INTELLIGENCE TEST NO 4
25. What number should replace question mark

a)983 b) 5163 c)6741 d)632
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1. What no comes next in the series?
13 15 17 19 21

a)20 b)26 c)24 d)23

2. Write the middle letter?
B C D E F G H

a)D b) E c)C d)F



VERBAL INTELLIGENCE TEST NO 5

3. Subtract 7 from 25 and divided the result by 3
if the answer is less than10 write X, otherwise write Y

(a)x (b)Y (c)None.
4. FLY is to AEROPLANE as SAlLis to
a)SEA  b) SHIP c) OCEAN d) CABIN

5. Aslam was 21 years old in 1945, how old will be
he in 1965?

a)43 b)45  c)41 d)65
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6. Subtract the smallest number from largest and
divide the result by first number then answer
will be

3 4 15
a)3 b)4 c)15 d)6
7. SOW is to SEED as REAP is to
a) RAIN b) GRAIN c) CROP d) SUNSHINE



VERBAL INTELLIGENCE TEST NO 5

8. Divide the largest of these numbers by the
difference of two smaller numbers then answer

will be?
8 10 6

a)7 b)15 c)5 d)25

9. TIGHT is to LOOSE as HARD is to
a) CABON b) STONE c) DIFFICULT d) SOFT
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10. Which word does not belong to the list?
a)BLACKSMITH b) PROFESSOR Cc)TAILOR d) MASON

11. FISH is to SWIMMIMG as SNAKE is to
a) PUPPY b) JUMP c) CRAWLING d)CREEPING

12. Which word does not belong to the list?
a) MILE b)INCH c¢) FOOT d)YARD e)ACRE



VERBAL INTELLIGENCE TEST NO 5

13. CAT is to KITTEN as DOG is to

a)CUB b) PUPPY c)BABY d) DUCKLING
14. Which word does not belong to the list?

a)SHIP b)BUS c¢)TRAIN d)CAR e) TRAM
15) LIGHT is to EYE as SOUND is to

a) FOOT b)HEAR C)LEG d) EAR
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16)Which word does not belong to the list?

a)LION b) WOLF <c)LEOPARD d)LAMB ¢e)TIGER
17. ACRE is to KANAL as SQUARE is to

a) MILE b) KANAL c) MARLA d) ACRE e) KARAM
18. Which word does not belong to the list?

a) SHIRT b)BOOT c) COAT d)TROUSER e) NECKTIE
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19. HEAVYis to LIGHT as ROUGH is to
a)SOFT b) SMOOTH ¢)WOOD d) COARSE
20. Which word does not belong to the list?
a) PLATE b) DISH c¢) KNIFE d) SPOON e)SUGAR

21. ONE THIRD of ONE HALF is
a)2/3 b)1/3 c)1/8 d)1/6
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22. What number should replace the question mark

a)6 b)2 c)8 d)1



VERBAL INTELLIGENCE TEST NO 5

23. How many complete turn must be largest wheel
make in order to bring the wheel back to their original
position.

a)39 b) 40 c)36 d)40



VERBAL INTELLIGENCE TEST NO 5

24. What number should replace question mark

5 8 3

a)11 b) 4 c)2 d)l
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25. What number should replace question mark

a)10 b)9  ¢)12 d)5



VERBAL INTELLIGENCE TEST NO 6

1. HOTisto BURN and COLDisto ?

a)STREAM b) FREEZ c) OVEN d)ICE
2. Which word is odd one out ?

a)WHISPER b) SHOUT c) SING d)TOUCH
3. Which word is odd one out ?

a) SELFISH b) DISHONEST c¢) UGLY d)FOOLISH



VERBAL INTELLIGENCE TESTNO 6
4. BIRD is to CAGE as PRISONER is to

a)LOACKUP b)PIGEON c¢)CELL d)LOCK
5. Write the next number?

6 11 12 11 18 11 24 11

a)34 b)45 c)40 d)30
6. Which word is odd one out?

a) RADIUS b)DIAGONAL c)DIAMETER d) ARC e)CIRCUMFERENCE



VERBAL INTELLIGENCE TEST NO 6
7. Which word is odd one out?

4 8 7 12
a)7 b)8 c)4 d)12
8. Write the next number?

62 31 34 17 20
a)8 b)9 c)10 d)6

9. Which word is odd one out?

a)COW b) GOAT c) SHEEP d) HORSE e)
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10. Write next number in series?
1 4 10 22 46

a)90 b)80 c)85 d)94
11. Which word is odd one out?

a) SPEECH b) SERMON c) GOSSIP d)LECTURE e) ORATION
12. AistoEasCisto
a)F b)D c)G d)H



13.

14.

15.

VERBAL INTELLIGENCE TEST NO 6
Which word is odd one out?

a) OIL  b)PETROL c)LIQUID d)SPIRIT e) WATER
Write next two number?

5 3 6 4 7 5 8 6 9

a)7,10 b)7,5 c)8,10 d)9,5

NIB is to PEN as BLADE is to

a) STEEL b) RAZOR c¢) SHAPNER d) KNIFE



16.

17.
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What humber comes next?

3 8 14 21 29 38
a)48 b)49 c)50 d)55
What number comes next?
BY CX DW EV FU
a)GO b)GT c)TG d) TS



VERBAL INTELLIGENCE TEST NO 6

18. A cake is cut so that, one piece, which is half of the
cake, is twice as largest as the other piece. How many
pieces are there?

a)6 b)o c)3 d)2
19. Which word is odd one out?

a)PIANO b)STRING c¢) GUITAR d)BANIJO



20.

21.

22.

VERBAL INTELLIGENCE TEST NO 6

What number comes in next?
5 8 9 12 11 15

a)12 b)13  ¢)17 d)14

DECEMBER is to OCTOBER as JUNE is to

a)MAY b) AUGUST c) OCTOBER d)APRIL
What number comes next?

20 15 18 13 16 11
a)l10 b)19 )26 d)14
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23. What will be the answer if you add all even numbers
in series and divide it by the middle figure?

3 4 5 6 7 8 9
a)4 b)11 c)3 d)7
24. What number comes next?
2 4 5 10 11 22 23 46
a)54 b)45 c)a7 d)56
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25. LAUGH is to GAY as WEEP is to
a) GLOOMY b) SAD c)PLEASANT d) WEEP



VERBAL INTELLIGENCE TEST NO 7
1. What number comes next?

2 6 12 20 30
a)42 b)46 c)59 d)36
2. TOBACOisto PIPE as COALis to

a) FUEL b)PETROL c)SMOKE d)WOOD e) OVEN

3. What number comes next?
3 6 9 12 15

a)25 b)18 c)35 d)20



VERBAL INTELLIGENCE TEST NO 7
4. What number comes next in the series?
4 8 12 16

a)25 b)18 c)35 d)20
5. 1f2200 hour's is 10' o clock, write the figure 6
otherwise write 5.
a)5 b)6 c)1700 d)None of these
6. What number comes next?
120 108 97 87 78

a)70 b)45 c)80 d)85
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7. FINGER is to ELBOW as TOE is to

a) FOOT b)ANKLE  ¢)KNEE d) ARM

8. Which one word does not belong in list?

a)POUND b)OUNCE c¢)STONE d)TON

9. If 6 and 5 make 10 write 3 as your answer unless
4 and 4 make 8 then write 4 as your answer.

a)6 b)4 c)5 d)3
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10. What letter comes next in series ?

A C F J O

a) U b)S c)T d)Vv
11. What will come next in series ?
11 21 40 77 150
a)294 b)295 ¢)290 ) 395

12. SINGLE is to DOUBLE as ONE is to
a)ZERO Db)TWICE ¢)TWO d)TEN



VERBAL INTELLIGENCE TEST NO 7

13. Which one is different from the rest?
a)Pleader b)Cook d)Magistrate d)Judge e)Advocate
14. BOOK s to TITLE as MAN is to

a) NAME b)SIR c) WOMAN d) GIRL
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15. What Number Should Replace The Question Mark ?

a)37 b)43 c)30 d)28
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16. What Number Should Replace The Question Mark ?

e
AN A A

a)20 b)96 c)6 d)o
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17. What Number Should Replace The Question Mark ?
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18. What Number Should Replace The Question Mark ?

a)50 b)48 c)56 d)none of these
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19. What Number Should Replace The Question Mark ?

b)2 c)64 d)39
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20. What Number Should Replace The Question Mark ?

a)l3 b)5 c)21 d)none of these
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21. What Number Should Replace The Question Mark ?

[S5)

a)9 b)11  ¢)10 d)21
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22. What Number Should Replace The Question Mark ?

a)9 b)7 c)2 d)4
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23. What Number Should Replace The Question Mark ?

62

26 9
49

a)l4 b)13 c)21 d)12



VERBAL INTELLIGENCE TEST NO 7
23. What Number Should Replace The Question Mark ?

62

26 9
49

a)l4 b)13 c)21 d)12
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24. What Number Should Replace The Question Mark ?

A (R A5

NZANIANY

a)-4 b)16 c)3 d)None of these
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25. What Number Should Replace The Question Mark ?

n g 83 61
61 .
23
67 1 5329

a)74 b)5 c)43 d)None of these



VERBAL INTELLIGENCE TEST NO 8
1. What number comes next in the following series?

6 9 7 10 8 11

a)l0 b)o c) 13 d)6 e)19
2. What number comes next in the following series?
WXYZ XYZW

a) ZXWY b)YXWZ c)YZXW d) YZWX e)YWXZ



VERBAL INTELLIGENCE TEST NO 8
What number comes next in the following series?
2 2 4 4 6 8
a) 88 b) 14 c) 18 d) 68 e) 8
What number comes next in the following series?
15 13 11 9 7 5 3
a) 2 b) 1 c)3 d) 4 e)5



VERBAL INTELLIGENCE TEST NO 8
What number comes next in the following series?
16 8 24 32 16
a) 36 b) 20 c) 72 d) 88 e) 48
What number comes next in the following series?
8 2 8 6 8 18
a) 36 b) 8 c) 54 d) 20 e) 26



VERBAL INTELLIGENCE TEST NO 8
7. What number comes next in the following series?
1 2 3 4 5
a) 8 b) 9 c)11 d) 13 e)6
8. What number comes next in the following series?
3 5 7 9 11
a)l3 b)10 c) 15 d) 14 e) 20



VERBAL INTELLIGENCE TEST NO 8

9. What number comes next in the following series?
2 q 12 48 240
a) 1200 b) 120 c) 1440 d)2400 e)1441
10. What number comes next in the following series?
15 17 15 17 15 17
a) 15 b) 17 c) 18 d) 19 e) 14



11.

12.

VERBAL INTELLIGENCE TEST NO 8

What number comes next in the following series?
101 105 111 119

a)129 b)125 «¢)135 d)25 e) 15

SINGLE is to DOUBLE as ONE is to

a) ZERO b) TWICE c) THREE d) TWO c¢)TEN
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13. Which one is different from the rest?
a) PLEADER b) COOK C) MAGISTRATE d)JUDGE
e) ADVOCATE f) JUSTICE
14. BOOK is to TITLE as MAN is to
a) NAME b)SIR ¢) WOMAN d) KHAN BAHADUR



VERBAL INTELLIGENCE TEST NO 8

15. Which one is better answer?

a) Lady drivers can put on their lipstick.
b) Driver can look at the lady passengers.
c) Driver can see the traffic in the car.

d) Drivers in the car can know that some cars
are going ahead of them.
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16. The opposite of NEVER is
a) SELDOM  b) ALWAYS c¢) OFTEN
d)OCCASIONALLY e) FREQUENTLY

17. Which letter is as far from L as far from J?

a)U b)T c)R d)S e) K



VERBAL INTELLIGENCE TEST NO 8

18. Which one is different from the rest?

a) RED b)BLUE c) GREEN d) CHAIR e)YELLOW
19. Which one is different from the rest?

a) CIRCLE b) SQYARE c) TRIANGLE

d) RECTANGLE e) QUADRILATERAL



VERBAL INTELLIGENCE TEST NO 8

20. Which one is different from the rest?

a)SHEEP b) RAT c¢) HORSE d) TIGER c) POTATO

21. If the letters of the word "PROS" are arranged in order
in which they occurs in the Alphabet, which two letter
would be in the middle?

a) WX b)UV ¢)PR d) RS e) PU



VERBAL INTELLIGENCE TEST NO 8

22. If A is smaller than B, but taller than C. Who is
the tallest of the three?

a)C  b)B  ¢)D  d)F
23. DRIVER is to CAR as ............ is to AEROPLANE.
a)FUEL b) AERODROME c) PILOT d) NAVIGATOR

e) LOAD MASTER



VERBAL INTELLIGENCE TEST NO 8

24. If SHEEP is to WOOL as CAT is to
a) DOG b)BITCH «¢)FUR d) CAMNEL
25. If BRUSH is to PAINTING as PENCIL is to
a) SKETCH b) MAP c¢) DRAWING d)NOTEBOOK



VERBAL INTELLIGENCE TESTNO 9

1. A man with a child visited "SELECTION CENTER"
and said that this child is the grandson of my father
and | have no daughter, what is relation between

child and man.

a) Father b)Son c¢)GrandSon d)Son & Father



VERBAL INTELLIGENCE TESTNO 9

2. Ifthe following; series is written in reverse order
then add all the consecutive numbers, what will be
the final result.

1, 2,3,4,5,6, 7,8, 9

a) 45 b) 89 c) 65 d) 40 e) 40



VERBAL INTELLIGENCE TESTNO 9
3. What will come next in the following series.

64 2 74 3 94
a)5 b) 4 c)7 d)l e)10
4. If RING is to SING then FLOWER is to

a) FASTER d) SLOWER b) HEAVIER e) TOWER e) STRANGE
5. If PRAYER is to 593749 then what stand for YEAR?

a)5939 b)7349 ¢)7439 d)3479 c)9473



VERBAL INTELLIGENCE TESTNO 9

6. IfG=7,J=10thenFEDis to....
a) 6FS5E4D b) 4F6E5D c) 6F5E3D d) 6F5ED4 c¢) None
7. Which one is different from the rest?
a)NARVY b) NAPAL c) NEITHERLAN
d) NEWZELAND e) HALAND
8. If PROSE 98017 and BREAST 687413 then BEAST?
a) 64713 b) 71643 c) 67413 d) 67314 e) 45673



VERBAL INTELLIGENCE TESTNO 9

9. What will come next in the following series?
8 2 8
el = ?
51010 33 19 2330 74 510 7 :

a)55 b)66 )80 d)47 e)30
10. If STRANGER is to 97524687 then ANGER is to ......

a) 24687 b) 26487 c) 64287 d) 26489 c)98462



VERBAL INTELLIGENCE TESTNO 9

11. If SKYLAND is coded as 7948312 then LAND is coded as
a) 8312 b) 7948 <¢)9483 d) 8321 e)None

12. Which one is different from the rest?
a) Similar b) Equivalent c) Like d) Same c) distinguishes
13. Which one is different from the rest?

a)Fullback b) Fineleg c) Centerhalf d) Defender
e) Halfside



14.

15.

16.

VERBAL INTELLIGENCE TESTNO 9

Which one is different from the rest?

a) Tooth b)Spoon c)Plate d)Tray c) Knife
If SHOUT is to 81397 then HOT is to
a)137 b)237 c)731 d)813 e)318

Which one is different from the rest?

a) Kiwi b) Sparrow c) Crow d) Eagle e) Parrot
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17. Find out the odd man out

a) Cloth b) Thin c) Colourful d) Pencil e) Bright

18. If RIVER is coded as 12345 and FEAVER is to 647345
then what stand for EAR?

a)375 b)465 c)275 d)475 e)651
19. If SECRET is coded as 102807 then ERRECT is coded

a) 088027 b) 088007 c) 808027 d) 088072



VERBAL INTELLIGENCE TEST NO 9

20. If TOMORROW is to 56768869 then ROW is to...

a)576 b)688 c)896 d)869 e)968
21. Insert the missing number.

4

8 S 2.3 11 6 g 3

a)7 b)9 c)14 d)15 e)3



VERBAL INTELLIGENCE TESTNO 9
Insert the missing number.

a)54 b)3 ¢)89 d) 95 e)



VERBAL INTELLIGENCE TESTNO 9

23. Insert the missing number.

L3 9 3 2 6

8 4 30
a)32 b)35 «¢)34 d)40 e)29



VERBAL INTELLIGENCE TEST NO 9

24. If the highest number is added to the first number and
divided by the third number, what will be the answer?

10 15 5
a)4 b) 2 c)6 d)5 e) 12
25. what will come next in the following series?

BAC EDF KIL ? OPR

a)MNO b)NMO <¢)JOMN  d)POR
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1. What will come next in the following series?

5 36 8

6 25 7
36 49 94 49 36
A P 9y dig 95

2. Which one is different from the rest?

a) Paper b)Pen c)Stationary d) Stationery



VERBAL INTELLIGENCE TEST NO 10

3. IfG =7, H=8 |1=9 thenDEF=

a)455 b)456 «¢)564 d) 465



VERBAL INTELLIGENCE TEST NO 10

4) Insert the missing number.

a) 18 b) 6 c)4 d) 27



VERBAL INTELLIGENCE TEST NO 10
5) Insert the missing number.

16 © mis c) 20 )



VERBAL INTELLIGENCE TEST NO 10

6) Insert the missiﬁg number.

a) 24 b) 42 ¢) 34 d) 43



VERBAL INTELLIGENCE TEST NO 10

7) Insert the missing number.

—

a) 44 b) 4 ' e)2 d) 54

¢) 74



VERBAL INTELLIGENCE TEST NO 10

8) Insert the missing number.

4 U 3 > Auia S . }

a) 11 b) 15 c) 18 d) 23

e) 27



VERBAL INTELLIGENCE TEST NO 10

9. Hereis to now thereis to?
a) Then b) here c)than d) where
10. series. K. LL, MMM, .............. ?

a) NNNN b)NNN c¢)NN d)NL e)N



VERBAL INTELLIGENCE TEST NO 10

11. Why the teacher go to school?
a) Want to earn money. b) To do his duty’s.
c) A & b are correct. d) none is correct.

e) To give knowledge.

12. FOOT is to shoe as HEAD as -?

a) Hat. b) helmet. c)cap d) all are correct



VERBAL INTELLIGENCE TEST NO 10

/\
VARV

AN
\/

2)66 b) 74 c) 75 d) 65 ¢) 84

13) Insert the missing number.



VERBAL INTELLIGENCE TEST NO 10

14. Ring is to finger as Tie is to?
a)shirt b)Neck c)me d) cloth e)silk
15. Cisto3 as Wis to-?

a) 2 b) 21 c) 23 d) 24 e) 25



VERBAL INTELLIGENCE TEST NO 10

16) Insert the missing number.

22024 52026  ©2620  d)2420 ¢y



VERBAL INTELLIGENCE TEST NO 10

17. If3x4=916, 2x5=425, then4x5=

a) 20 b)21 ) 2516 d)9 e)1625



VERBAL INTELLIGENCE TEST NO 10

18) Insert the missing number.

NPANPANY,

a) 190 b) 189 ¢) 70 d) 14 ¢))



VERBAL INTELLIGENCE TEST NO 10

19) Insert the missing number.
? 12
72 18
48 9

a) 65 b)45 c) 36 d)9 e)none



VERBAL INTELLIGENCE TEST NO 10

20) What digit is missing in the following?
14 12 25

2) 55 b) 66 c) 47 d) 34 ¢) 54



VERBAL INTELLIGENCE TEST NO 10

31) What will come in the center of Last Square?

4 ] S 10 g 6
57
W——
11 2 9 ) 12 1

)43 b) 61 ¢)47 d) 74 ¢) None



VERBAL INTELLIGENCE TEST NO 10

22) Insert the missing number.

2)25 b) 24 c) 42 d) 50 ¢) 48
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23) Insert the missing number.

2) 17 b) 35 c) 45 d) 23 e) 21



VERBAL INTELLIGENCE TEST NO 10

24) Insert the missing number.

220  b)4S ¢)30 d) 81 ) 18



VERBAL INTELLIGENCE TEST NO 10

25. Series 19 20 18 21 17

a) 20 b) 22 c)30 d)81 e) 18



VERBAL INTELLIGENCE TEST NO 10

26. If Z=1 Y=2 X=3 Then A stand for......

a) 20 b) 26 c) 30 d) 81
27. Series 3,7,12,18,25......... ?

a) 20 b) 22 c) 33 d) 81
28. Cow is to calf as horse is to -?

a) colt. b)mare c)hen d)cat

[ ] ?

e) 18

e) 18

e) hen



VERBAL INTELLIGENCE TEST NO 10
29. series 9, 16, 25,36,........... ?

a) 20 b) 22 c) 33 d) 49 e) 18
30. Which one is different

a) gold b)silver c)iron d) Ammonia.
31. Find the odd man out

a) August b) may c) September d) October e)November



32.

33.

34.

VERBAL INTELLIGENCE TEST NO 10
seriesA, C, F, J, O......... ?

a) U b) B c) M d) I e) H
Series 3E, 5G, 8J, 10L,...... ?

a)13U b)13B )12 M d)12 |
e)130

series 3/27, 5/24, 7/21,....... ?

23Y9/18 b)9/17 c)19/16 d)R/18 e)K/17



VERBAL INTELLIGENCE TEST NO 10

35. series 1234, 3456, 5678,........ ?
a) 78910 b) 78911 <¢)78912 d)77911 e) 78913
36. Which one of the five is least like the other four?

a) BEARA  b) SNAKE ¢)COW d)DOG e) TIGER



VERBAL INTELLIGENCE TEST NO 10
37. if you rearrange the letters "BARBIT” you would have

the name of
a) OCEAN b) COUNTRY c)STATE d)CITY e)ANIMAL
38. Which one of the five is least like the other four?
a) POTATO b)CORN C)APPLE d)CARROT

e)BEAN



VERBAL INTELLIGENCE TEST NO 10

39. Which one of the five makes the best comparison?
Milk is to glass as letter is to ?

a) STAMP b)PEN c) ENVELOPE d)BOOK e)MAIL

40. Which one of the five choices makes the best

comparison? Live is to Evil as 5232 is to

a)2423 b)3252 ) 2325 d)3225 e)5223



VERBAL INTELLIGENCE TEST NO 10

41. Which one of the five choices makes the best
comparison? Tree is to ground as chimney is to:

a)TREE b) BRICK ¢)SKY d) GARAFE e)HOUSE

42. Which one of the five choices makes the best comparison?

CAACCACisto 3113313 as CACAACACisto -?

a)13133131 b) 13133313 ¢) 31311131 d)31311313
e)31313113



VERBAL INTELLIGENCE TEST NO 10
43. Which one of the five is least like the other four?

a) SOCKS b)DRESS c¢) SHOE d) PURSE e)HEAT

44. Which one of the five choices makes the best comparison?
Bullet is to Gun as Ball is to -?

a)BAT b)SLINGSHOT c¢) CANNON d)PITCHER e)CATAPULT
45. Which one of the five is least like the other four?

a) BOTTLE b)CUP c¢)TUB d)FUNNEL e)BOWL



Verbal Intelligence Test No. 1 Verbal Intellgence Test No. 2 Verbal Intelligence Test No. 3

1)B 1A 1)D
2)C 2) A 2) A
3)B 3)A 3)A
4) D 4)B 4) A
5)C 5) A 5) A
6) C 6) B 6) A
7)C 7)D 7) A
8)E 8)D 8) E
9) A 9)B 9)B
10) A 10) C 10) A
11) C 11) D 11) C
12) D 12) A 12)C
13) E 13) A 13)D
14) A 14) A 14) B
15) E 15) C 15) A
16) E 16) A 16) B
17) A 17)B 17) A
18) B 18) A 18)D
19)C 19) A 19) A
20) E 20) A 20) A
21) A 21)D 21) B
22)D 22)B 22) A
23)C 23)B 23) A
24) E 24) A 24) A

25) E 25)B 25)A



Verbal Intelligence Test No. 4 Verbal Intelligence Test No. 5 Verbal Intelligence Test No. 6

1) A 1)D 1)B
2)D 2)B 2)D
3)D 3)A 3)C
4)D 4)B 4)C
5)C 5)C 5)D
6) A 6) A 6)B
7)D 7)C 7) A
8)D 8) C 8) C
9)B 9)D 9)D
10) A 10) B 10) D
11) A 11)C 11)C
12)B 12) E 12)C
13) A 13)B 13)C
14)B 14)E 14) A
15)C 15) D 15) B
16) C 16) D 16) A
17) A 17)D 17)B
18) C 18) E 18) C
19) D 19) B 19) B
20) A 20) E 20)D
21)D 21)D 21)D
22) A 22) A 22)D
23)B 23) B 23)C
24) C 24)D 24) C

25) A 25)D 25)B



Verbal Intelligence Test No. 7 Verbal Intelligence Test No. 8 Verbal Intelligence Test No. 9

1) A 1)B 1)D
2)E 2)D 2)A
3)B 3)E 3)A
4)D 4)B 4)D
5)B 4)B 5)C
6) A 5)E 6) A
7)C 6) B 7)E
8) C 7)E 8) C
9) B 8) A 9)E
10) A 9) C 10) A
11) B 10) A 11)D
12)C 11) A 12) E
13) B 12) D 13) E,
14) A 13)B 14) E
15) B 14) A 15) A
16) C 15)D 16) A
17) A 16) B 17)D
18) C 17) A 18) D
19) D 18) D 19) A
20) B 19) A 20)D
21)D 20) E 21)E
22)B 21) C 22) B
23)D 22) B 23)C
24) C 23)C 24)D
25) A 24) C 25) B

25) C



Verbal Intelligence Test No10
1) B
2)D
3)B
4) A
5)B
6) A
7)A
8) A
9) A
10) A

11)E

12) D
13) A
14)B
15)

16) B
17)E
18)E
19)C
20) A
21) B
22) A

23)E

24) E
25) B
26) B
27)C
28) A
29) D
30) D
31)B
32)A
33)E
34) A

35) A
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